|
OP(’«'SO‘g 1 S’a(ﬁ.‘m\s ;

2

. N, 937 811E

or's Comnputation Pad

TN

The 7l bive &JLAnNAJo@:gLJ—*kaAA;'LE & Men-Tony #5 bemnz i, wn winel Gan

T .
- ) T i ET «[‘
Problem 7) H et dllnsin, ﬂ;uw{qz/\ Dg 2' ”‘LU - a:‘ )
3

QPM@Z’W rnillo; Toyty=f00500 = D9 = fix) 5'te) 2
D £1x) 9't¢)

, At
— — — ' - — — — .VZL/“ (’
fn«) '(;m =X =D J=49) D JHlz=e =D x ancgabve Gt

2 L
a) T(x=2¢)=T (x=L,+)= o ‘z) f(X):AL‘,,( ﬁwx) :‘)@

W I()tf)__ZA 5”,4[’1711(){&'0( nﬂD)
~___ 1=

20
T[X'f-;d):ZAnL’n ;"%7__)[) ’ D\()L,él—-

n=y

Gince o MSE - B 2l <0 A gl T A, e st ol

T (x, 0) alte (2_&_/_/ . T{Jf,o') a dLme/ (-,M@Q O1ln &gx{[_ ,'gm»iv/aj ,:j’ Con

6’5 QKI;AM Méw% /(:vq; O i /)%LIJV\A ‘11&,@_ > - Guiz;, M/ﬂm’iwéw\)

J'GHA M -7—{73{‘:0):%(7() A_,y( L{C{F-’A&. TO‘,&':A‘): —f(-ﬂ) (x)lu—-—\ —-Lé)(,((’)'

To pnd Ko Gefpntns An | we mlh,oi7 botl. plss g U pre&a[;uj_ (7,“4,;_

b $ia(102) od 2 Tig s orin Hee LT pnf) ~ L AL L. Werll B

x

‘f# ) $in (200 ot + [ ey g
Rt (-x) San ( T ) l () n(T)dat—ZA fﬁm("'“x)j, {m‘n)i)d

Nz - |

0 +L
= 2 f Rex) S (20X ) :Z = A, _{ { oo i) — g | (e ] L




;

|

R /Z

tion Pad

Computa

Mo, 937 11F
nainoer's

E

[AEN

[ b b

ot i et

LV

A

/n
DA I
[l —

L
./; ﬁﬁ[(n-w\zﬂ)‘) JX:‘LL-; 5«*\0( wie'Op ﬁw

0T

L
2 %rx)@é(mfx)AX=LAm =) Amr%fT(X,éwﬁéA(f“—E—’f)Ax)

N——

M/\_/\_J

L J nrm /‘—‘;7
) E(—T{x:a}t)-_ Th=L1t) =0 = f/?t).—Béa{ )») o= 20 >

b

06
Tecfos, TOWH)z ) B, Gl 212 oep(- ﬂ:*g‘of) =

n=p0

Tt =B +Zg G
N~
T, t= a)—B+Z? C;{”T"l odx {L.
Nn=i

§inte Haa AUt gl - ol As 0 pim Pl af 2, We ke Hor Lot

Led s S 5:7 dLo’-x‘m‘ﬂOL T(x0)= 79[)1) A Tlao) = £l-x), -Lin

o L L iy L _~©¢
%; . fvf(-x) d)l"’j “'Ehl)dx :/Bccb( + Z gn/"gﬂé’n—?) ﬂl)( "_/")
Nz -~

- -L
-f_—f Rty dyc . ’,z\,m, B, <~ e aeape Zpeadirt M;(m tare |,

L o
./ Jz—x)aw(“““"” )A**j “g””&’(mx MM% +
il

ad L
2 B, Vmﬂ)&—-(qu)a‘x >2f‘ﬁlx)éa['”ﬂx)&(¥=
Nz -L

L

i
ol

=

N —————e e

%4
L .
z zl_ E/):[L ; [(n-'“)ﬂ)‘]* 4[(*\-&’“)1)‘ }J)‘ = m ::) E: L—%—!?}%o)&[’_"{_ﬁ!)ﬁfy‘

{o .






